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Question 16

Marks
Question 16 (continued)

(a) Outline TWO changes that could be made to the experimental procedure that

2
would improve its accuracy.
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(b) Compare Kim’s and Ali’s methods of calculating ¢ and identify the better 3
approach. :
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(c) Calculate the value of g from the line of best fit on Ali’s graph. 4, 5 (Cg/c . 3
................ O 8 S OO
T2: 472 jh)
...... Lcmz)m(ﬁ‘:-j)
O SR G2 9.12 ms” (200)
C?ﬂ—ﬁgoﬁazﬂl ............................................................................
C.22T*
.................... jc_'b‘ztl'&]

8: q,"?Z.Oj‘:ﬁ’j 233)6

End of Question 16

—15 -



	Band 1/2: Band 4/5
	Quest: 
	 X: Question 16

	subject: HSC 2002 - Physics
	sample:  -  Sample 1


